
Free Questions for HPE6-A72 by braindumpscollection

Shared by Dodson on 24-05-2024

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1
Question Type: MultipleChoice

What are two mechanisms supported on AOS-CX 6300 switches used in Multi-active Detection to determine the status of the Primary

member? (Choose two.)

Options: 
A- Management interface split detection

B- Peer switch-based detection

C- Loopback keepalives

D- ARP-based

E- BFD

Answer: 
A, D

Question 2



Question Type: MultipleChoice

Which two statements accurately describe the features of NetEdit? (Choose two.)

Options: 
A- NetEdit can be used to configure and validate any third-party device that supports SSH and REST access.

B- NetEdit includes trial licensing for up to 10 nodes.

C- NetEdit can perform configuration and compliance validation.

D- NetEdit supports viewing and editing multiple devices using a single deployment plan.

E- NetEdit can run on a mobile device using Android or Apple IOS.

Answer: 
C, D

Question 3
Question Type: MultipleChoice

Which statement is true regarding modern switching requirements?



Options: 
A- Most older legacy switches had high port bandwidth utilization and were future proof designed to meet today's power-over-Ethernet

needs.

B- Requirements for PoE are normally addressed using AC to DC power adapters. Concerns for port security for IoT devices are usually

addressed using default wired encryption that all 802.3 Ethernet switches provide.

C- While APs are common, most clients are still docked and only require traditional wired connections with only the occasional dedicated

PoE switch to provide power for the low number of devices needed.

D- Clients tend to prefer wireless connections, raising the need for PoE port access. There is also a growing amount of IoT devices that

require security and port authentication options.

Answer: 
D

Question 4
Question Type: DragDrop

Match the term to the correct description.



Answer: 

Question 5
Question Type: MultipleChoice

Which command can be used to find the serial number of an Aruba OS-CX switch?

Options: 
A- The command inventory

B- The command version

C- The command show running-configuration

D- The command show system

Answer: 
D



Question 6
Question Type: MultipleChoice

Refer to the exhibit

What is true regarding VLAN 50 according to the diagram above?

Options: 
A- VLAN 50 is part of a switched virtual interface (SVI) that was never routed causing it to be down.

B- Since VLAN 50 has not been assigned to any enabled physical port, the status is down.

C- VLAN 50 is assigned only to Trunk ports which is why no ports are listed under interfaces.

D- VLAN 50 was never added to the vlan-database and therefore is in a down state.

Answer: 



B

Question 7
Question Type: DragDrop

Match each description to the correct management tool for Aruba AOS-CX.

Answer: 
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